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Test 3 Review

For questions 1 —6, state the type of problem andlculate the answer. P A‘“‘"“\b
1. Parents of a college student wish to set ugcanunt that will pay $350 per month to the
student for four years. How much sh at 9% annual interest,

compounded monthly?
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2. Your friend’s payments on his new car are $524& month. He received a $3000 trade-
in on his old car, and received a financing packhgewas 8.9% annual interest,
compounded monthly for five years. What wa—e of the car?
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- 25,219.%93 A+>2000 = |A%6,319.%93

3. A newborn child receives a $20,000 gift towacdiege education from her grandparents.
How much will the $20,000 t—arsitrivested at 7% compounded guarterly?
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. The owner wants to have this moneilabla when the equipment is replaced.
e can make fixed quarterly payments and earnastett 6% annual interest compounded
quarterly. How much should the payments be?
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ﬁpany estimates that it will have to replagiece of equipment at a cost of $10,000
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5. Jenna wants to begin saving money for a new $he can make monthly payments of
$150 into an account at her.credit union which @E#gsannual interest compounded monthly.
How much money will she have available for her rawin three years?
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6. The manager of a manufacturing company knowassttiey will need a new machine in one
of their factories. The new machine will cost thgh2,500. The manager has determined that
they can afford to pay 20% of the cost of the m@aelmn cash. They can then finance the rest
through a credit union. The credit union will cha2f6 per year compounded monthly. How
much are their monthly payments for 4 years?
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Example 7:Given the following Venn diagram, which region(sake(s) up:
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Example 8: Find the number of elements in each set.
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Example 9:800 college freshmen were surveyed regarding émewliment in Math, Physics
and English classes. The survey revealed thewoip

- were enrolled —th

399 were enrollediin Math

ere enrolled ifPRySies/and'English
314 were enrolled in Physics
101 were enrolled in all three

212 were enrolled iflViatRiaRaEnglish

418 were enrolled in English
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a. How many were enrolled in Math or Physics?

b. How many were not enrolled in Math or English Wwere enrolled in Physics?
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Example 10:Suppo pens are selected at random from admdaicing 9 yellow pens and
6 blue pens. In how many ways can you chooseaat leyellow pen? ( Jee. (_p..‘.l. X (a 3.,11...,_)
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Example 11: A club has 58 members, 38 men ] must consist of
8 people. In how many ways can the committee sb n? 0) '\ W
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Example 12:A business organization needs to make up a 5 mefubeiraising committee.
The organization h jors andaht jors. In how many ways can the
fund-raising committee be forme is on the committee?
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Example 13: If a coin is tossed 14 times. nND =2 - 1;4

a. What is the probability that heads will comeexpctly 10 times?
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b. What is the probability that heads comes upadt 12 times?
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Example 14: A box contains 20 computer chips, 5 of whichdegective. Seven chips are
taken out at random for testing. What is the pbdlig that - cl=o
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b. at most 4 are defectivgy, v 1,3, W Q5
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